15 ARG (2022.11.20 ) @M HEOEX

Ba il v
2 XFRER O FIFI, FHIRORFE, 2 KAFX DMK S 2 il
HIELHRL, ERERE ETHBRRADIEH 2 A5 HETH 5.

SREBD 7 5 7 DR s RD B Z v, 3IREBOERD DFtH
RE, WO ESRICB T 2 ERN R 2T 2 METH 5.

RIGAT DR, BHOHEERN, BIIOMIRZ Y, R, B, MRs
\F 2 EBERIHO R AN S METH 5.

N7 PVORESRNME, FERME, MENY ML, 70N TRIRE, F
A7 PLVOERFRIEEZ AWT, ZAROIEEZRES 2HETH 2.

EFRONBROFES, HITHICH T 2 KM 2 B4R 72 RIEC
b5, FICHFROHME YL MO HERICOWTOMRE 2R L TV 2.



R5
@PEEER (FAfRE) f

ZOMEY EIZIHTHFEA LARNWTL 7ZE 0N

+¥d
i
i
£

(1) 4<a<6 (2) 4<a<6
PR 1
(1) y = 152 — 100 (2) ~1
PR 2
(3) 9
4
(1) S (2) Lt 1
3 Pnt1 =g Pnt 3
PR 3
(3) 2
5
(1) R (2) 13
5 5
PRl 4
(3) V15
5 B 5
(1) z = wil (2) a=3, r=2 )
w—2
s

inss




	ito_kyotsu.pdf
	solution_c

